L»(13).2 (mod 2)

blocks | defect | matrix
2.G: 1 4 8 x 2
2 2 4x1
3 2 4 x1
4 2 4 x1
5 3 8 x1
Block 1: $1,0 P2+
11 =x10 1
1o =x1.1 1
14, = 2 1
LT p10 = L
131 = X7,0 1 1 02 — 121
132 = x7.1 1 1 +
127 = x10+ . 1
146 = x15,0 2 1
147 = X1571 2 1
Block 2: ©4,0
121 = x40 1
129 = x41 1 pa0 = 12
128 = x12,0 1
129 = x12,1 1
Block 3: ©5,0
123 = x5,0 1
124 = x5.1 1 w50 = 123
1219 = x13,0 1
1211 = x13.1 1




Block 4: ©6,0
125 = x6,0 1
126 = x6,1 1

1212 = Xx14,0 1
1213 = X141 1

Block 5: | ¢7
145 = x3,0 1
143 = xs,1 1
144 = Xx9,0 1
145 = xo,1 1

14g = x16,0 1
149 = x16,1 1
1410 = x17,0 1
1411 = x17.1 1
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